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Read each question to find out whether there is any 

grammatical error in it. The error, if any, will be in one 

part of the sentence. Choose the option with that part as 

your answer. If there is no error, mark(E) as your answer.
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The medical waste disposed of from hospitals(A)/ 

may be infectious and will continue to be a 

harmful(B)/ to society so measures need to be 

taken(C)/ for its proper disposal and safety.(D)/ 

No error (E).

1. A

2. B

3. C

4. D

5. No error

PRACTICE SET -3PRACTICE SET - 12



I have already submitted the necessary(A)/ 

documents to the passport office(B)/ and expect 

them to deliver my passport(C)/ within by 30 

working days.(D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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At the airport we were instructed(A)/ to check the 

weight of all the luggage(B)/ before we boarded 

the flight that was(C)/ about to leave around 9:30 

AM in the morning.(D)/ No error (E).

1. A

2. B

3. C

4. D

5. No error
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After the mock drill was over(A)/ at the school 

the(B)/ Mathematics teacher gave us some 

homework(C)/ to complete in the weekend.(D)/ 

No error (E).

1. A

2. B

3. C

4. D

5. No error

PRACTICE SET -3PRACTICE SET - 12



Despiting knowing answers(A)/ to all the 

questions that were asked(B)/ in the examination I 

could not answer them(C)/ because I went all 

blank due to improper sleep last night.(D)/ No 

error (E).

1. A

2. B

3. C

4. D

5. No error
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In the question given below, there is a sentence in 

which one word is given in bold. The bold word may 

or may not be grammatically and contextually correct. 

Choose the best alternative among the four given 

options to replace the bold word. If no replacement is 

required choose option (E) as your answer.
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Israel, which has created checkpoints that criss-cross 

the occupied territories, has managed to prevent, so 

far, the rise of another organised resistance after the 

second Intifada even while deepening the occupation.

1. identify

2. established

3. fix

4. many

5. No replacement required
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The search for a missing submersible with five 

people into took a bleak turn on June 22 when the 

U.S Coast Guard said a debris field was found at the 

bottom of the ocean near the Titanic.

1. in

2. on

3. aboard

4. loaded

5. No replacement required
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Swap the words given in bold if necessary to form a 

meaningful sentence.
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Although he is yet to make any(A) formal announcement 

on coming(B) for the country’s top office from the new 

political outfit, it is widely expected that the charismatic 

leader will emerge as the incumbent’s main(C) rival in the 

running(D) presidential race.

1. A-C

2. B-C

3. A-D

4. B-D

5. No swapping required
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The criminal case of attempted(A) kidnapping in the city 

should be investigated(B) quickly, and nobody should be 

allowed(C) to make use of it to propagate communal 

politics, also the leaders should be fair(D) and impartial.

1. A-C

2. B-C

3. B-D

4. C-D

5. No swapping required
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Facts(A) will gain(B) in the decades to come, and the 

official narrative will fade(C) the status of absolute 

truth(D).

1. A-D

2. A-C

3. B-C

4. C-D

5. No swapping required
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An sustainable(A) statement of the meeting said the G20 

members have agreed on the need to work together(B) for 

a resilient, equitable, inclusive and outcome(C) future 

through(D) education.

1. A-B

2. B-D

3. A-C

4. C-D

5. No swapping required
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The output of the program we developed was not satisfied 

the client and hence they refused to move it to production.

1. was not satisfied by the client

2. was not satisfy the client

3. is not satisfied to the client

4. was not satisfactory to the client

5. No replacement required
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The following paragraph given below has five blanks in 

which words from options given in each question would be 

filled in order to complete the paragraph meaningfully. 

You must read the same carefully and choose the correct 

answer for each question.
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India’s campaign in its second consecutive hockey World Cup at home had a dream start when local 

boy Amit Rohidas scored a brilliant goal in front of a packed house and the host beat Spain 2-0 at the 

spectacular new Birsa Munda Stadium in hockey hub Rourkela. Ten days later, the euphoria burst like 

a bubble as sixth-ranked India ____(A) under pressure against 11th-placed New Zealand and lost the 

cross-over match via penalty shoot-outs to leave the capacity crowd at the Kalinga Stadium in 

Bhubaneswar _____(B). Now India, which finished inside the top-eight in the three previous World 

Cups it hosted, will play for the ninth to 16th places. The premature exit of India — which had 13 

players from the Tokyo Olympics and 14 from the 2018 World Cup (where it reached the 

quarterfinals) — proved to be a shocker especially as the team entered the World Cup as an Olympic 

medallist for the first time in over four decades. The post-mortem has ______(C) and questions are 

being asked about a few past performers being left out of the squad. Even though picking players was 

a prerogative of those who were tasked with it, some flaws were glaringly obvious. Poor penalty 

corner conversion (five out of 26, primarily due to an off-colour drag-flicker and captain 

Harmanpreet Singh), 
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a porous defensive structure, forwards’ below-par showing (four field goals in as many matches), 

losing ball possession in _______(D) moments and the overall lack of consistency in maintaining the 

intensity prevented the Graham Reid-coached side from achieving its potential. Nine goals from 94 

circle entries and 49 shots on the goals was a telling statistic on India’s woes. Key midfielder Hardik

Singh being ruled out due to an injury in the pool stage and ace goalkeeper P.R. Sreejesh getting hurt 

during the shoot-out against New Zealand were big blows. Some experienced hands not getting a 

chance during the shoot-outs might have hampered India’s prospects too. India needs to do a reality 

check and address the issues quickly ahead of the Asian Games, which is an Olympic qualifying 

event, this year and the Paris Olympics in 2024. Even though India’s 48-year-old wait for a World 

Cup medal has become longer, Hockey India president and former India captain Dilip Tirkey, who 

has underlined the areas of concern, needs to take corrective steps to put the team back on track. 

Executing plans such as ________(E) the Hockey India League to give quality exposure to young 

Indian players and identifying a big pool of drag-flickers will contribute in lifting the standard of 

hockey.
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Ten days later, the euphoria burst like a bubble as sixth-ranked India 

____(A) under pressure against 11th-placed New Zealand and lost 

the cross-over match via penalty shoot-outs to leave the capacity 

crowd at the Kalinga Stadium in Bhubaneswar _____(B). 

Which of the following words fit in the blank (A) given in the 

passage ?

1. enjoyed

2. crumbled

3. pressured

4. corner

5. unspoilt
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Ten days later, the euphoria burst like a bubble as sixth-ranked India 

____(A) under pressure against 11th-placed New Zealand and lost the 

cross-over match via penalty shoot-outs to leave the capacity crowd at the 

Kalinga Stadium in Bhubaneswar _____(B). 

Which of the following words fit in the blank (B) given in the passage ?

1. happy

2. hopeful

3. delighted

4. disheartened

5. cheered
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The post-mortem has ______(C) and questions are being 

asked about a few past performers being left out of the 

squad. 

Which of the following words fit in the blank (C) given in 

the passage ?

1. begun

2. start

3. begin

4. commencing

5. took place
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a porous defensive structure, forwards’ below-par showing 

(four field goals in as many matches), losing ball possession in 

_______(D) moments and the overall lack of consistency in 

maintaining the intensity prevented the Graham Reid-coached 

side from achieving its potential. 

Which of the following words fit in the blank (D) given in the 

passage ?

1. uncritical

2. essentially

3. minor

4. toughness

5. crucial
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Executing plans such as ________(E) the Hockey India 

League to give quality exposure to young Indian players 

and identifying a big pool of drag-flickers will contribute 

in lifting the standard of hockey.

Which of the following words fit in the blank (E) given in 

the passage ?

1. calling off

2. abandoning

3. destroying

4. restore

5. reviving
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THANK 
YOU
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